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<! DOCTYPE html >
<htnml >
<head>
<nmeta http-equi v="Content-Type" content="text/htm ; charset=UTF-8">
<title>Test BusinessViewService</title>
<script type="text/javascript" src="http://libs.baidu.conljquery/1.7.2/jquery.js"></script>
<script type="text/javascript" src="http://libs.baidu.conljson/json2/json2.js"></script>
</ head>
<body>

<textarea id="output" rows="10" col s="40"></textarea>
<script type="text/javascript">
function execRM (cl assNarme, nethodNanme, paramArray, callback, sync) {
$.aj ax(' http://1ocal host: 18080/ snartbi/vision/RM Servlet', {

type : ' POST',
async : !sync,
data : {
'classNane' : cl assNane,

' met hodNane' : net hodNane,
"parans’ : JSON. stringify(paramArray)
}
dataType : 'json',
success : call back,
failure : call back,
error : callback
s
}

$(function(){
var |ogined = fal se;
var isSync = true; //

execRM (' UserService', 'login', [ 'admin', 'manager' ], function(data) {
if (data & data.retCode === 0) {
| ogined = data.result;
}
}, isSync);
$(' #output').val ('l ogined=" + logined + '\n");
if (logined) {

t est Busi nessVi ewServi ce();
}
)
function println(nsg) {
var text = $('#output').val() + nsg + '\n';
$(' #output').val (text);
}

function testBusinessViewService() {
/1 1D("\\\ SQL\ sQL)
var bizViewd = "12c94907127855da201278df 551b62602" ;
/1 1D("SQ@L")
var param d = "Qutput Paraneter.|2c94907127855da201278df 551b62602. _";
11
var paramvalue =",,,,";
11
var paranmsJsonArrStr = JSON.stringify([{id: param d, val ue: paranVal ue}]);
I
var rowsPerPage = 2;
11
var get Total Rows = true;
11



var isSync = true; //
execRM (' Busi nessVi ewServi ce', 'openLoadDataView , [ bizViewd,
paranmsJsonArr Str, rowsPer Page,
get Total Rows ], function(data) {
if (data & data.retCode === 0) {
var ret = data.result;
var |loadDataClientld = ret.clientld;
var total Rows = ret.total RowCount;
var fieldNanes = ret.fiel dNanes;

println(’ )
printIn(fieldNanes.join(', "));
println(’ ')
var pages = parselnt(total Rows / rowsPerPage) + (total Rows % rowsPerPage ==
0?0: 1);
for ( var pageNum = 0; pageNum < pages; pageNum++) {
execRM (' Busi nessViewService', 'loadViewbata', [ |oadDatadientld,
pageNum ], function(
pageData) {
if (pageData && pageData.retCode === 0) {
var datali st = pageData.result;
for (var i =0, len = datalList.length; i < len;
i++) {
println(dataList[i].join(", "));
}
}
},isSync); /11 oadVi ewDat acl oseLoadDat aVi ew
}
execRM (' Busi nessVi ewService', 'closeLoadDataView, [ |oadDataCientld ]);
}
}, isSync);
}
</ script>
</ body>
</htnm >
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